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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]

7.0

6.8 1

6.6 -

6.4 -

6.2

6.0 -

Warning: col

[’ PHC' ,

"FVIRH' ] is misg/ing

—@— PHI

2.5

5.0

7.5

10.0

12.5

15.0

17.5




Plot [['FVOPH:r-o’, 'PHO:g—o’]]

7.0

6.9 -

6.8 -

6.7

6.6 -

6.5 -

Warning:

ol

[’ FVOPH’ ]

is

—— PHO

2.5

5.0

10.0

12.5

15.0

17.5




Trend plot forP3-15 0

6.0 4
1
1
5.9 i
1
1
5.0 1
1
1
4.5 4 I

ol : minFVI

. : minFVO
1
3.5_ 1
1
i 1
3.0 |
1
2.5 1 1
Warning: col ['minFVliraw , 'minFVOraw’ ] is missing :
2.0 !
1

1 1 1 1 1 1 1
1.4 - ® [ J ETcAlraw
— ETcAl
1.2 1 e —0— ETcA

Warning: col ['E

0.8

Warning: col ['ETcA2raw’, 'ETcA2avg’, 'ETcA2’] missing

3000

2500

2000 -

1500

Warning: col ['ECC’'] is missing

6.2 Warning: [PHC T s missing
1 1 1 . 1 1 1 1
31.5 1 : —@— WCperM
1
1
31.0 + 1
1
1
1
30. 5 1
1
1
30. 0
1
1
29.5 - :
1
1
29.0 - |
Warning: col ['WCperMraw', |'WCperMavg'] is missing :
28.5 1
1
1 1 1 . 1 1 1 1
0.50)—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—90—0—0—0—0—0—0—0—0—0—0—0—0—
1
1
1
0. 45 ~ i
1
1
1
0. 40 + 1
1
1 —@— minDeltaM
0. 35 : —®— avgDeltaM
: —@— stdDeltaM
0.30 —D—.—.—H—O—.—H+.—H—.—.—.—.—.—.—+—.+.—H—O—.—H—.—.—H—.—.—.—.—.—|
1
1
0. 25 |
1
1
0.20 p—0———-o—0o0—0o—o——o——o—o—o—o0——C0o0—C0—O0—O0—O0—O0—0—0—80—C—C0—C0—C0—C0—O0—0—0—0—C—C—0—C0—0—0—0—0—0—
1
1 1 1 . 1 1 1 1
NP0 0000900009000 0900009000000 000 _¢ e
: =0 maxM
98 : —@— minM
1
1
1
i 1
26 I
1
24 1
1
1
1
22 - :
1
1
1
20 —C0——o——o——~o—~o—o—o——o——o——oC——0oc——C—Co0—C0o0—C0—C0—O0—O0—60—O0—C—C—0—C0—0—0—0— 00— 00— O0—0—0—C—0—C0—C0—0—

adjFVOR

-0. 02 ~

—0. 04 ~

Warning: col ["adjFVIRraw’, "adjFVIR, "adjFVORraw ] is missing

o FRA

o FRC

[ ] FRraw
— FR

0 5 10 15 20 25 30 35
1759 o postFgEtraw
—— ostFgEtav
150 4 p g g

125

100

75 -

50 A

25 -

—@— postFgEt




FgDaily




—/

)N ="\ N\ /
Y N/ v

[ N /‘\,/0\ /J’\ —e-
0 [/ . /A\ 2
S AV \ / /
=N \ / \/ |
I\ f \ ¥
: //’\\V/N/ (s
— /




ESo ETclis ETcPT ETcP ETcldef ETcl

o
-
w
‘©
Qa
-
w
o
S
a
a
>
[
z .
=
£ IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII IIIIII
L _
a
a
[
ETcI ETcIdef ETcP ETcPT ETC|IS ESo EToI ETbal pR VPD PPFD

1.0

0.8

0.6

0.4

-0.2

-0.0



ETcl

ETol

VN

400 - 1 1 1 1 1

350 -

300 -

250 -

200 -

150 ~

100 ~

1600 -

1400 -

1200 -

1000 -

800 -

600 -

22 - . . : : 1

20 A [ ] '. T L .J
® [

~ 18 o ® T ®

65 A ° . °

60 ® [ E

RH

°
55 1 ° y °
°

40 ° 1 °

300 - .

250 - ° . °

200 - .
150 ~ .

1004 _ @ e o 7 °@®

50 { «° o 1 °®

350 % o ° o E . @‘.'

325 A e % - P

°
300 ~ ° ° T ©
275 ° 1 e

950 - ° ° ° ° °

2954 ©® 4 ® J@ - o 4 @ 4
° ° ° ° °
2001 o ° 1e ° 1 @ ¢ 1 ¢ ° 1 ° ° 7

100 200 300 400 750 1000 1250 1500 12.5 15.0 17.5 20.0 22.5 40 50 60 100 200 300 200 250 300 350
ETcl ETol T RH VN I




1400

1200

1000

800

600

400 ~

200

obs
Fit

T
50

T T
100 150

baiA

baiB

1.0

0. 4945

0. 0096

0.8 -

0.6

0.4 -

0.2 -

0.0

0.0

0.2

0.4

0.6 0.8

1.

300 -

250 A

Fit vs obs: a=0.31, b=109. 81,

r=0. 21

T T T
150 200 250

Fit

0.8 -

0.6 1

0.4 -

0.2 -

0.0

0.0

0.2

0.4 0.6 0.8

1.

0



hour

100

8:15
80

9:15
10:35 60

13:05
20

14:25
1 1 1 1 -0

% & & B K QB




P3-15

Bfie) | GEBIATIC (7)) | EME (EH/HK) | XS EFE

08:15 125 50. 0 i FnHfe0s: 15 (KRFERES)
09:15 125 50.0 i ¥HAe09:15 (KRF{ERLEE)
10:35 125 50.0 5 FiH@10:35 (RFEREE)
11:50 125 50.0 5 FiH@11:50 (RFERE)
13:05 125 50.0 i FiH@13:05 (KRFERE)
14:25 125 50.0 A FifA@14:25 (KRAERSE)
24t 750.0 (63%) 300.0 3ESHKEC: 1840.0, PH: 6.0

P EIKRECE (2280.0 vs 3307.0) R




FRV (ml plant-1)

ET (ml/hr/plant)

P3-15_0, Day=19 (2025-04-19)

V1, VG°BRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET L 400

0.6+ 260 L 300 1

08 230 -
0.4 - - 200 >~
>
o
0.2 A - 100 *-
26
[

00 0O

TargetEC=2300. 0,  TargetSetEC=1840.0

TargetPH=6. 5, TargetSetPH=6.0

400
75

L
®
1
w
S
)

ByWoFv @D19 03:08: ET=230 Fg=300.0 Ro=62.0

50 -

25 A

N
S
S
cumET (ml/plant)

T
—_
o
o

I YA g I

o

1.0
0sl P [ P8 | B | W [ 0 | 13 [ 1A | 18 | | | | | | |m | @ | | | |m @ | @& &

0.6 1

0.4+

0.2~

800 4
600 -
400 -

200 -

0 \ A A Warking:,‘:ol [Al_

"PPFD_obs’] is missing

To_obs'] is missing

80 -
70 -
60

07— Ry Warning: lcol ["RH obs’, "RHo obs’] is missin

0.0 0.2 0.4 0.6 0.8 1.0



hour

8:55

10:55

12:25

100

80

60

40

20



P3-15

BYiE) | EBIATK (FD) | EME (EH/HK) | XK ERE

07:55 120 50.0 (Z=| 1BRi&e07:55 Fzh (REEEE)
08:55 120 50.0 |&=| 1Ri%e08:55 Fz (KPHERSE)
10:55 120 50.0 |Z=| 1Ri%@10:55 Fz1 (RBFERSE)
12:25 120 50.0 |Z=| fBRige12:25 Fzh (RAEESE)
23| 480.0 (4%) 200. 0 #EFREC: 1840.0, PH: 6.0

FEREAERE STEAETRE (78.0 : 44.0), AIRERTF—AEXAFHE
FRGEBERTC (120) 5587 (135. 0) A FF, A REHT % MEIERS X XIER
ZRIASERRIERE44. 0 ml.

RE X i B RECEIE SR L.

HEERECE (2145. 0 vs 3200.0) /5

RE X B HEREC/PHESR R, P RESIMAEEL R K



P3-15_0, Day=18 (2025-04-18)

40 -

20 A

220

100
(¢

75

50 -

FRV (ml plant-1)

25 -

[T — ME P
FRV

e i —— — ——————

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2300. 0,  TargetSetEC=1840.0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

75

50 A

ET (ml/hr/plant)

25 A

|
Bylnit @D19 §3:08: ET=235 Fg=300.0 Ro=54.0 '

—e 89

:
|
/

&
1 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

100 -

]
J17

Tkt

i

BB | B | B | B[ E | [/ [/ | B [ | BB | B | BB | | B | A [ B | BA[BA [BA | BA |

75

50 A

25 A

ET (ml/hr/plant)

—o—o—o
- Vo Y

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

100 -

75

50 A

ET (ml/hr/plant)

25 A

1.0 A

B | s | B[ | B || B[2Z|Z25| B |ZE(2=|5=(%=| A | BB | BA [ B8 | BA | B8 | BA | FH | BA | A
]
ByWoFv @D19 93:08: ET=190 Fg=200.0 Ro=39.0

1

0.8

0.6

0.4+

0.2~

0.0

1]
Ll
|

f==1
T
f==1
T0H
E=-1
Tt
™
T
f==1
T
f==1
T0H
W
M
W
M

H 12|55 |5=(%= | A | BB [ B | B8 | B | BH | BH | BH [ BH [ BA

1000 A

—_— 4
o | _obs
—@— PPFD_obs

L]

190 200 £
=
- 100 -
0 Warning: lcol [FVI',| "FVO’'] missing 26
| -0

VI, V2BRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 390 | 400

62 260 - 300 3

- - 30

400

300

200

cumET (ml/plant)

100

300

200

100

cumET (ml/plant)

H O
o
o

—_ N wW

o o &

S & &
cumET (ml/plant)

o



28.5

28.0 -

27.5

27.0 -

26. 5

26.0 -

T
500

T
600

700
m=750,n FV0=0

T
800

28. 25 A

28. 00 ~

27.75

27.50

27.25

27.00 A

—0—

M_E

T
750

765
m=600,n FV0=0

T
760

24.0

23. 8 -

23. 6 -

23. 4 -

23. 2 -

23.0 -

—o— MW

600

605

610

m=510, FV0=0

27. 25 A

27.00 A
26. 75 A
26. 50 ~

26. 25 A

—e— ME

510

5%5
m=810,n FV0=0

T
520

28. 50 A

28. 25 A
28. 00 -
27.75 A
27. 50 A

27.

—o— M_E

25 A

810

815
m=660,n FV0=0

T
820

24.1 -

24.0 -

23.9 A

23.8 -

23.7 A

23.6 -

—— MW

:

660

665

670

m=600, FV0=0

28.

27.

27.

26.

——

M_E

600

T
605

610

24.5

24.0 -

23.

23.

—— MW

T
500

T
600

700
m=750,n FV0=0

T
800

24.6

24. 4 -

24.2

24.0

23.

23.

23.

—— MW

750

755

760

28.

28.

21.

27.

27.

21.

23.

23.

23.

23.

22.

22.

24,

24.

24.

24,

24.

24,

24.

m=660, FV0=0

:

—o—

-

M_E

6é5 6;0
m=510,n FV0=0

T
660

BEE

5%5 5&0
m=810,n FV0=0

T
510

BEt

810 815 820




100

8:00
80

9:00
- 60

£§ 11:15
- 40

12:55
20

14:20

0
& 3




P3-15

Bfig) | JEBIATIC (FD) | EBRE (BFH/HR) | XS IR

08:00 120 50.0 FH| {Ri%e08:00 Fzh (KAMEESE)
09:00 120 50. 0 FA| {RRi&@09:00 Fz (kAEEEE)
11:15 120 50.0 PR {Rig@11:15 Fz CGRAERSE)
12:55 120 50.0 FE| {Ri%e12:55 Fzh (RAEESE)
14:20 120 50.0 B Rige@14:20 Fzn (REAERSE)
2it| 600.0 (5)%) 250.0 3ESHKEC: 1897.0, PH: 6.0

MEREHLER E S FEIERT (78.0 :
PRI\ LBRERE46. 0 ml.
FE R i B/ ECEIIE FR k.
HEERECE (2335.0 vs 3093.0) R
RE R EEBL 3 HEREC/PHIE S, WIRERS

46.0), FIREERT—RE XA 45

MEAR LR R




40 -

100

FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

i —
0 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 = 800

1ood&=| BA [ BA [ BA [ BA | BA | BA | BA | BH | BH | BH [ BH | BA [ PA 5 | B | # | i | i |ZR|ZR|FE |55 |55

ET (ml/hr/plant)

1.0 -p—ap WS ol PN P NS

oslZz=| B [ FH | BA | BH [FH | BA [ BH [ FA | BA [ FH | FH | BA | PH 5 | B | i | i | i |ZR|ZR|FE |55 |55

0.6
0.4+

0.2~

0.0

1500 §

1000

500

P3-15_0, Day=17 (2025-04-17)

V1, VG°BRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 390

210 220

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2300. 0,  TargetSetEC=1897.0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

75
50 -

1
|
|
|
1
I
1
25— o—o—e—@
|
al

1
Bylnit @D19 p3:08: ET=168 Fg=150.0 Ro=25.0

1oodZ=| BA [ BA [ BA [ BA [ BA | BA | BA | B | BH | B | PA 5 | A5 | A5 | RS | 5 | 5 | A5 | A5 | AR | AR | BF | HR

75 -
50 - I

25 p—0—0—6 —0—0—

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

—o—o —o—o

]
ByWoFv @D19 93:08: ET=188 Fg=250.0 Ro=41.0 ———$%

[ ] | _obs
—@— PPFD obs

RH
RH_obs
RHo _obs

—_— 4

e vpD P

30

T T T T T T
w » - N w H
o o (=} o o o
o o o o o o

T
w
o
o

T
N
o
o

T
—_
o
o

cumET (ml/plant)

- 400

- 100

L 300

£

- 200 -~

188 188
20
- 100 -
0 Warning: lcol [FVI',| "FVO’'] missing 0
-0

( mm v — ME f
75 FRV

cumET (ml/plant)

cumET (ml/plant)



28.

27.

27.

26.

26.

27.

27.

27.

27.

27.

26.

25.

24.

24.

24,

24.

24,

24.

M_E

760 860
m=810,n FV0=0

T
600

T
900

—o— M_E

00

AN

8%5 SéO
m=660,n FV0=0

T
810

00 ~

95 -

90

85 ~

80 -

75 1

70 -

—o— MW

660 665 670

m=600, FV0=0

27.

27.

26.

26.

26.

26.

26.

—e— ME

T
600

665 6%0
m=870,n FV0=0

28. 25 A

28. 00
27.75 A
27. 50 A
27.25 A
27.00 A

26.75 -

—9—

M_E

870

8%5 SéO
m=750,n FV0=0

24.6 -

24.4

24.2 -

24.0 A

23. 8 -

—— MW

750

755 760

m=660, FVO0=0

27.6

27.4 -

27.2 -

27.0

26. 8

26. 6

25.

25.

24.

24.

24.

24.

23.

—e— ME

660

T
665

670

25 A

00 -

75 -

50 A

25 -

00 ~

75 -

—— MW

600

760 860
m=810,n FV0=0

T
900

24. 8 -

24.6

24. 4 -

24. 2 -

24.0

23. 8 -

—— MW

000

810

815

820

21.

21.

27.

21.

26.

26.

25.

25.

25.

25.

25.

25.

25.

m=750, FV0=0

75 -

50 -

25 A

00 -

75 -

50

—o— ME

T
750

7%5 760
m=600,n FV0=0

30

25 A

20 ~

15 1

10 4

05 A

00 -

—o— MW

T
600

665 6%0
m=870,n FV0=0

25.0 A

24.8 A

24.6 -

24.4 -

24.2 A

—o— MW

870

875 880




hour

100

6:30
80

8:00
60
10:35 40
20

12:30
1 1 1 1 O

% & & B XS B




P3-15

BYiE) | EBIATK (FD) | EME (EH/HK) | XK ERE

06:30 120 50.0 FA| 1Ri&@06:30 F3) (KAL)
08:00 120 50.0 |Z=| 1Ri%@08:00 Fz (KPBIEESE)
10:35 120 50.0 |&=| 1Ri%@10:35 Fz1 (GRBFERSE)
12:30 120 50.0 [Z=| 1BRige12:30 F3zh (REAEESE)
23| 480.0 (4%) 200.0 323 KEC: 1958.0, PH: 6.0

MERRYERE STREAERS (78.0 : 48.0), Ak TF—WMZ XAHE
ERINLPREBRE48.0 ml.

large discrepency for begining water status (58:120.0), set to 71.0 ml.
FEREBIEC (2505.0) H5i&FEEC (2000.0) REK K, HHEE
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P3-15

Bfig) | GEBEATIC (FD) | EBE (BFH/HR) | KSR R

08:15 180 50.0 £| {BRige0s:15 Fz (FPERSE)
09:15 180 50. 0 BE| {Ri&e09:15 Fz (REAEHE)
11:30 180 50.0 RS Rige11:30 Fz (REAEHE)
13:05 180 50.0 RS Ri%@13:05 Fzi (KREAERESR)
14:45 180 50.0 | Ri&014:45 Fz1 (REERSE)
2it| 900.0 (5)%) 250.0 3ESHKEC: 1873.0, PH: 6.0

FERRALERE STEERT (117.0 : 68.0), AIEEHF—@% XA 4
FERGEBIRTIC (180) 5T0HA (132. 0) A FF, W REH T % MEIERS % XIER
EXINSEPREBE68.0 ml.

FER i Bl /RECEUIR SR k.

REXEEBIEC (2422.0) 5% FEEC (2000.0) REKR KA, HFHE
REREBHHEREC/PHIETRR, Wl BERIMAEEUR R
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